SH6FE LT B & EZ A ERERIKR
SH6EE

X 4 =BYN ZER ZRE | REEK | REMESR

BH B B+A B B=+C

(M)A (AN)B| %100 (NC| ()

1T 5 4 80.0 1 4.0

(ICT) 0) (0) (0.0) (0)

TR 8 7 87.5 2 35
(EFR-£R)E) (4) (3) (75.0) (1)
weELRK 4 2 50.0 2 10
(= AREBH) (2) M (50.0) (M

ME 1 1 100.0 1 1.0
(= ARERH) 0) (0) (0.0) (0)
NESET] 2 2 100.0 2 1.0

(1) (M (100.0) D)
ZEHI B 6 6 100.0 6 1.0
(5) (5)]  (100.0) (5)
Bl EE B 6 6 100.0 5 1.2
(6) (6) (100.0) (5)
AR EELT 4 3 75.0 1 3.0
(4) (3) (75.0) (1)
N Hi 36 31 86.1 20 1.6
(22) (19) (86.4) (14)
X( YRHIEEMETAETT,

KEEMRUERIERICDOVTIE. 6 A14BFETORBRBAZTHTY,




